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Question 1

Question Type: MultipleChoice

Service Solution 2: 'New development on Pittville University site and close and transfer all further
education units in the Pittville area resulting in financial affordability’.

Which 2 statements are correct about this entry in the Options Framework?

Options:

A- This is a Service Scope option NOT a Service Solution option.

B- Delivers against one or more of the critical success factors.

C- Supports one or more of the Spending Objectives.

D- Will represent a benchmark for Value For Money throughout the appraisal process.

E- This is the LEA's preference and therefore the preferred option.

Answer:

B, C



Question 2

Question Type: MultipleChoice

Service Solution 1: 'Do minimum - introduce learning network to
existing schools and universities only"'.
Which 2 statements are correct about this entry in the Options

Framework?

Options:

A- Should be rejected as over-ambitious.

B- Delivers against one or more of the critical success factors.

C- Will represent a benchmark for Value For Money throughout the appraisal process.
D- Supports one or more of the Spending Objectives.

E- Incorrectly identified as a Scoping Solution.

Answer:

B, D



Question 3

Question Type: MultipleChoice

Scoping Solution 2: '20% increase in rate of participation, 75-85 education courses, 15-20%
improvement in qualification success rate'.

Which 2 statements are correct about this entry in the Options Framework?

Options:

A- Should be rejected as over-ambitious.

B- Delivers against one or more of the critical success factors.

C- Will represent a benchmark for Value For Money throughout the appraisal process.
D- Supports one or more of the Spending Objectives.

E- Incorrectly identified as a Scoping Solution.

Answer:

B,D



Question 4

Question Type: MultipleChoice

Using the Scenario and the information below, answer the following questions about the creation

of the short listed options for the Pittville project.

Spending Objectives

At least 15% increase in rate of participation

A 15% increase in attainment of qualification

At least 65 education courses

Critical Success Factors

Strategic fit and business needs - fit for purpose schools and universities attractive to 16-18-year-old
learners

Potential Value For Money

Supply side capacity and capability



Potential affordability

Potential achievability

Remember to select 2 answers to each question.

Scoping Solution 1: '‘Current level of participation, 55 education courses and current qualification
success rate'

Which 2 statements are correct about this entry in the Options Framework?

Options:

A- Should be carried forward to the short listed options.

B- Delivers against one or more of the critical success factors.

C- Will represent a benchmark for Value For Money throughout the appraisal process.
D- Supports one or more of the Spending Objectives.

E- Incorrectly identified as a Scoping Solution.

Answer:

C,D



Question 5

Question Type: Hotspot

Answer the following question about the content of the Outline Business Case (OBC). The OBC

is based on the following preferred way forward:

- 20% increase in rate of participation
Service Scope - 15 - 85 - education courses
- 15 - 20% improvement in qualification success

- New Learning Campus on Old Fire Station Headquarters site

Service Solution - Transfer all further education units

Service Delivery - New organization for new Learning Campus

- All new buildings & modifications made within two years

Implementation ¥ ks
- New learning arrangements within three years

Column 1 is a list of true statements from the Economic Case in the OBC. Column 2 is a selection of
some of the Business Case headings. For each statement in Column 1, select from Column 2 the
Business Case heading under which the statement should be recorded. Each selection from Column 2

can be used once, more than once or not at all.
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Answer:

Question 6

Question Type: MultipleChoice

The following has been recorded as a dependency: 'Rationalization of the 11-16-year-old education and
training provision'.

Is this an appropriate application of the Five Case Model for this project?

Options:

A- No, because the objective is to increase the rate of participation in education and training by at least 15%.

B- No, because the Pittville project is planned to be delivered ahead of the rationalization of 11-16-year-old education and training
provision.

C- Yes, because there is currently a surplus of places for this group.

D- Yes, because the physical element of the favoured option must be implemented at the earliest opportunity.

Answer:




Question 7

Question Type: MultipleChoice

Topland LEA's preference to close Pittville High School has been listed as one of the Spending Objectives.

Is this an appropriate application of the Five Case Model for this project?

Options:

A- No, because this should be one of the service solution options when determining the long list.
B- No, because Topland LEA's preferences should be listed as critical success factors.
C- Yes, because this supports the requirement for the solution to be financially viable in the long term.

D- Yes, because Topland LEA initiated the project and therefore has the authority to determine the preferred solution.

Answer:

A



Question 8

Question Type: MultipleChoice

Pittville University insist that the business scope of the Pittville project should be based on the
development of a new campus on the site of the Old Fire Station Headquarters.

Is this an appropriate application of the Five Case Model for this project?

Options:

A- No, because Pittville University should NOT be involved in the development of the Strategic Case.
B- No, because the business scope should determine the affected business areas, functionality and organization.
C- Yes, because the Old Fire Station Headquarters site has good access from most parts of Pittville.

D- Yes, because the business scope of the Pittville project should be based on a short list of options.

Answer:

D

Question 9




Question Type: MultipleChoice

Using the Scenario, answer the following questions about the development of the Strategic Case for the Pittville project.
Topland Local Education Authority (LEA) has been asked to put forward a representative to attend
Workshop 1. The agenda for this workshop is to determine the case for change and options for service delivery.

Is this an appropriate application of the Five Case Model for this project?

Options:

A- No, because Topland LEA has formed a learning partnership with Pittville University.
B- No, because it is the Topland LEA that initiated the Pittville project.
C- Yes, because the customer and user representatives should be involved in this workshop.

D- Yes, because Topland LEA should decide the service delivery solution.

Answer:

C

Question 10




Question Type: Hotspot

Using the Scenario, answer the following question about the Strategic Case section of the

Strategic Outline Case (SOC) for the Pittville project.

Lines 1 to 4 in the table below consist of an assertion statement and a reason statement. For each
line identify the appropriate option, from options A to E, that applies. Each option can be used once,

more than once or not at all.

Option Assertion Reason

A True True AND the reason explains the assertion

B True True BUT the reason does not explain the assertion
C True False

D False True

E False False
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2. Itis appropriate that the Business scope BECAUSE | he Business scope heading sets out
heading includes the ‘Development of 14- the boundaries of the project.
19-year-olds learning provision in Pittville’.

J. ltis appropnate that ‘A choice of 65 or more BECAUSE Service requirements should be

education courses’ has been listed as a assessed in terms of business needs,

‘core’ service requirement. including core, desirable and optional.
4. Itis appropriate to record reduced BECAUSE Cash-releasing benefits reduce the

recruitment costs, as a result of improved costs of organizations in such a way

staff retention, as a cash-releasing benefit. that resources can be spent elsewhere.
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